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W & ford e ¢ - ' Instructions Jor the candidates s

1. geTef OMR 3F¥-Ua® YT 3GAT 1. Candidate must enter his / her
W97 YIRT#T FAIF (10 FHI F)  Question Booklet Serial No.

Havq ferd 1 (10 Digits) in the OMR Answer
Sheet.

o, qEmell FurE W 7 g? 2. Candidates are required: to give

Il %I their answers in their own words

as far as practicable.

3. qifEt R BIFE W 3 ey 3f% 3. Figures in the right hand margm
R‘U}fa,- ffee v &1 indicate full marks. __

4. 9;97?‘ Fi &227?126,‘37‘ 176’?‘“ F fﬂ? '4.l15 minutes of extra time have
gl #5115 e @7 SfR™ been allotted for the candidates to
qug &y mar & read the questions carefully.
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3.

6.

- [121/327]
This question booklet is divided
into two sections — Section-A
and Section-B.
In Section-A, there are

100 objective type questions, out
of which any 50 questions are
to be answered ( each carrying
1 mark). First 50 answers will be.
evaluated by the computer in case
more _thaﬁ 50 questions are

_answered. For answering these

darkerr the circle with blue [/
black ball pen against the

_correct option on. OMR Answer

Sheet provided to you. Do not use

 whitener / liquid / blade / nail

 etc. on OMR-shéet, otherwise

the result will be treated
invalid. S

In Seéti_ori—B, there are 30 short
answer type questions, out of
which any 15 questions are to

be answered (each -carrying

2 marks). Apart from these, there

are 8 long answer type
questions, out of which any
4 questions are to be answered
(each carrying § marks). |

Use of any electronic applianceé is
strictly prohibited.
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GUS - A / SECTION - A

. a‘ﬂ'ﬁﬁ 03T / Objective Type Questions
9y T 1) 100 7% & [y & QT 91 ey Ay 7y & frad @ vF gg
g1 fr=t SOJHFﬁ'%“aﬁ?W%;awr%znn'gﬁ'nq-nﬁ}ﬁisaraﬁ OMR ¥z 4T

Rifgaa &3

50x1=50

Question Nos. 1 to 100 have Sfour options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet.
d 3x
1. dx(2cos 2 )
[:3, ~2sin3%
. =34in3x
(C) - 3 sin<
d -3x
2 a:z(e -
-3x
e
(N
(C) 3e™3%
Cd i)
3. -d—;(l 1")-
(a)  x11*7

(C) 11%. logll®

(B)

(D)

(B)

(D)

(B)

(D)

INT-A-23/2501-(5/10 |

50 x 1 =250
—%sihi—x
e-—3x
-3
3 -3x
11* . logx
S 11*
logll
-3
(3x-2)2
3
3x-2
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S.

[121/327 ]

qﬁ_{_ x=acos?9, .y=bsin2{3, al % A ¥

b ' ¢ b

o _b

(A) P > (B) p
(C) %sin 20 . C APy %tan2 S

If x=acos? o, y=bsin29 then the value of d—y-is :

dx
@& 2 B -2 -
©) %sinQB | | (D) - %tgnﬂe
3R THIHTOT J;de+y2dly=0 FEAE _
{Al . x3+,y3=k' o (E:'_}.l %2+y:2:‘k |
{C] C x%-y?=k o (Dj 'x3'—£3=k

The solution of the differential e-quatjon _.;cgdx +y%dy=0 is

@) Bk (B) '_£2+y?=1§
B
. ' . - ] )
-2 ke SRR
@ 0 | A B -6
© -7 D 8

3TaHET FHIHTOT 3X dx+e*¥ dy=0 F 7 ¥

© Leiletvox o p) o3

[INT-A-23/2501-s/10] Page 4 / 32



B (1217327

The solution of the differential equation e3* dx+e*¥dy=0 is
@A) P Wak g e ek

(C) %83x+ 1 4y =.k (D) &3 4+t 435+ o

I

9.  ITEHT LT d_;uilf_:omga%

A) x=ky | C® Lil_g
- x y
(C) x+y=k o - (D) xy=k
The solution of the differential equation de+g£—=0 is
@) x=ky o® Ll
. - . . ; X y
©  x+y=k D) xy=k

10. e W SYysinx=cot x 1 WHIHEH T ¥

' sin x ' . . g™sinx
( Al | - [B) sm‘x
{C) . esinx _ (D) gCos X -
‘The integrating factor of the differential equation fl_i_ ysinx=cotx is
(A)  sinx - ' - B)  eSnx
-{C] esinx | (D) ecosx'

" 11, 3k A ¥R B WAy WA &, PA)=0-3 AN P(B)=0.4 & @l

P(ANB) =
o012 | ® o021
© o7 ©- o7

INT-A-23/2501-(5/10) Page 5 / 32




B [121/327)

If A and B are independent events, P(A)=0-3 and P(B)=0-4 then

P[AHB]* S
K 012 | . B 021
(C) | 075 (D) 07

12. ansqg[é ﬁ] 'WWEFT_HE{%?

[ 4 -2 | | -4 -3
w [ e (3]
-« |4 3] = .. 4 2
© 12 '1] N (D) '[3 1]
The adjointlmatrix of matrix [:]3: ﬁ] is @L :
| 4 -2] [ 4 -3 *
A3 1] i B .2 -1]
4 31 - " 4 .2"
-'(9/-_2'1] R ) | 3 1]
. 13. Hﬁ@i‘@fﬁﬁﬁﬁﬁw&r J— J_z‘ra)rxm@?m%
A 6 o | B 7
© 8 D9
If the direction cosines of a @c bccl J%’ , J—g_?— and —,?Jx=7- then a wfélue
of'xis _ ‘ ‘ |
(A 6 s B 7
(C) 8 o - D 9

I_ INT-A-23/2501-(5/1q) Page 6 / 32




' o [121/327 ]

14.
(&) 254 B 244
(€ 24 D) A
If A=[(1). [1]] then the value of A%%is
) 254 o B) 244
(C) 24 : D) A
15. AG GHRAT ‘o', @aob=3a+b | INAMNA & A (2 03) 05 =
A 28 B 32
(C) 36 ' (D) 22
If the operation ‘o' is d.f:ﬁncd as aob=3a+b then (2 o 3Jo5="
{Al 28 o (B) 32
© 36 . D 22
16, AR A={1,2}, B={a,b,c} W A® B H e b FA demd o
@9 ® 12 B
(2] 64 (D) T HIS A -
| If A={1; 2 }, B={a,b,c } then total number of functions from A' to Bis
A 9 | (B 12
(e 64 o R (D) none of these o
17. % A={a, b} B={1,23 }ﬁA@_BﬁmWﬁﬁﬁﬁ@ﬂ%'
(A) 6 o B) -8
© 9 o (D) o @ B A&

: iINT—A-QS /2501-(5/10) | Page 7 / 32'




18.

19.

20.

- 21.

- : [121/32?}
It A={‘1’ b } B ={1, 2,3 } then total number of one-one functions
from A to Bis

@w s @ s

c 9 (D)  none of these

IRET TP doe+ dy=0 T & &
A)  x=ky B xP+y=k

(C)  x+y=k | (D) . xy=k )

- The solution of the differential equation dx+dy =ﬁ is

@ x=ky B Py’
©  x+y=k . D) xy=k -
> 5 | |
i1 .1 =
4 o B 1
= |
© . -1 o 7
S
Jox i =
BN ' -
(A) k B) -k
@ o | o 1

y . —1_1_"_.
sm(sm 2)—

a 1 | ' .'__‘@, %
€ % - D) o

I INT-A-23/2501-(s/10) I
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23.

24,

25.

26,

[121/327 ]
sin~! x+sin~! y= .
(A) sin 1{;{\(‘1 y? ~yvl- xz}
sin 1{)(‘,1 Y +yJ1 xE}
- sml{ Jl-+—y +yJ1+x2}
O sin- {x,{uy —yJ1+x } _
xXe [—1_ 1 ], sin:[2{sin'1x-+cos_1x} ] =
L © -1 o L
(C) | (D) 2
X € R, cosec[tan Lx + cot™? x]—
w o - B 1
2 R
C - : D 2
© . 3 : (D) |
Jx}2 _1, i-:anli-g—.(tan_l x +cot™t x)] =
1 o |
A = BL- <3
© o ® 1
'%(ex# cosSx)=
(A) e* +cos5x- . (B) e*+5 .sin Sx
{9, e* - 5sin5x (D) . eX- Scos5x
~[INT-A-23/2501-6/10) Page 9 / 32



27.

28.

_d_( Dt X -
e sin2x+e . cosx)—
(A)  cos2x+e¥ —sinx

(C}  2cos2x+e* ~-sinx

d({1
a—;(zsecﬁlx] =

y ~sec4dx. tandx

29,

30.

]

{C) tan? 4x

9 (1og, 10x) -

A oo
(C) 10x

- (B)

(D)

(B)

S

[121/327)

XL
2cos2x+e +sin x

- x -
—Dcos2x+e” +8SinX

5602 4x

—sec4x. tandx

% |’5

o=

del 3x—4y+6z=11 Edl %ﬁﬁ@@% |

@ A ® 4=

(©) 1%7' (D) ﬁ%?
Distance of the plvane 3x—-4y+6z =11 fr(;m orig.in-is .
W T ®

© & i

-|-INT—A—23K 2501-i5/10) ] | Page 10 / EE




32.

33.

34,

35.

Ism%’idx_
3 3x
(A) . k- 4 COST
' _4 3x
C) kK 3 cos 5
Icos—dx..
(A) k+sm?x
9
9 T x
{E]/ ,?sm 5 + k
'2 17x
Isec 53 d
17 . 17%
(A) k+§t 23
23 17x
(©) k+~T7t
.[4"‘ dx=

@], 4% +k

4x
(©) log4+k
[x(4x?-6)dx =

(A)  4x®-6x+k

Q) x*-3x%+k

(B)

(D).

(B)

(D)

(B)

D)

®

D)

(B)

(D)

7 . Tx
951n?+ i

k+cos—

17.  17x

.k:-—tan

23 23

-3x2+k

[121/327 ]

INT-A-23/2501-(5/10)
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37.

38.

39.

40.

I e* (cos x—sinx) dx =
(A) e*sinx+k
(C) -e*sinx+k

_j‘ex(x3+3x9}dx=

(;p, 3x%e* +k

(C) . x3e*+k

Iex[%__%]d%—

X

(A) Lexyk
x -

(A) 39
© -21
.d—(ic-(sin4—5"c1=
§  eostE
y %COS%
[-11R =1]=
(a) -~ [o]

(B)

(D)

(B)

(D)

(B}

(D)

B)
(D)

(B)

INT-A-23/2501 ~{5/10) |
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e*cosx+k

k-e*cosx

xgex +Kk

3e*.x°+k

18

——=Cos

5775

U5 o gdx

4 S

[-1 1]

[2 -2]
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42.

43.

44

45,

[121/327 ]
3[§ *02]=
S B F
o B e 39

T x+y < 25, xzo%aﬂﬁﬁ Z= 6x+3y waﬁ%ﬁnnﬁ%

r

(A) 150 (B) 225
0 @ = @

© 425 o O

’I‘he maximum value of-Z=6x+3y subject to constraints

L

x+ys 25, ;z g

(A) 150 B) 225

(C) 425 . | {D} none of these
E’Iaﬁ%ﬁx+y<13 x2 0, y=20 % ad Z=x- 3ywaﬁmrrnﬁ‘%
(A} 39 A8 26

© 13 - . (D) -26

The: maximum value of Z=x-3y subject to constraints x+y< 13,
x>0, y20 is R

@) 39 By 26

(C) 13 | (D) -26

AT 3x+4y< 24, x20,y20 F A Z=7x+8y F FATT UH §

Ay s6 B 48

(C) 0 (D) -12

Page 13 / 32
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E [ 121/327
' to constraintg

The minimum value of Z=7x+8y subject
3x+4y< 24, x20,y20 is
(A) 56 | (B) 48
© o (D) 12
= -
46.  (2i-37).(7+Kk)=
(A) 2 B -1
© 3 D 0
47. x| =1, ’.?,tan_lx':- ' '
(A) tan"l2x B sin~! —2X
o : ' . (/}/ 1+x2
-[C] cos™1 2X_ _ D | tan~! - 2x..
' 1+ x2 : { _]. L 1+x?
48. - xe R, cot lx = -
(A) - %—sin”1 x (B) | —;-—co_s_l,._‘x |
(C) I%—tam‘l x (D) ,%—sec‘1 x
49. tan"( ’”y] E
l-xy,;
(A) sin‘l(x+y] (B) . | cos_l{x+y)
(C) _tan_l(x+y) , [Ii]/; _tan'1x+tan‘1y
50. sin~! ( singﬁ)=
3 -
T B =
2( 3 \.)/ 3
© = o g

[INT-A-23/2501-(s/10, | Page 14 / 32




52.

53.

54.

S55.

(A)

3
3 Oxadx=
81
A ol
(A) 3
(C) O

3

Isin” x cos” x dx =

-1
12
.S
< 1

1 R
I’xl-? cos4 x dx=
-1

lé), 0

3
(Cf} 17
SIJ;dx=

(A) %x3f_2 +k
9/ 3x3/2 +k

dx =

5=

(A) log | x+2 | +k

(C) -1ng[ x=2|+k

(D)

B)

(D)

(B)

(D)

B) .

(D).

(B)

(D)

I INT-A-23/2501-(s/10) |

[121/327]
243
4
° _
4
0
3 .
5
1
14
3
2372 4+ k
2 _3/2 -
3x +k
10glx2—4|+k
x+2 '
log | x—2| + k
Page 15 / 32



- - O6.

57.

58.

99.

60.

61.

K

j‘de_

v1-9x2
(A)  tan"!3x+ Kk

(C)  sin~'3x+k

QSIscc SxtanSx . dx =

(A)  2S5secSx+k

(C) 25tanSx+k

I secz 4x dx=

{A)- | tan.4x+k-'
(©  4tandxsk
T47)-
(A) O
(C) 2

dx = _
-[1+36x2 B

(A) 6tan" ' 6x+k

Q) %tan_.l 6x+k
2 4R g
w5 Y

© [% %]

|INT-A-23/2501-5/10)

- (B)

(D)

(B)

D)

~(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

sec t3x+k

co_s”l Ax+k

SsecSx+k

secSx+k

1
4 4x+k
4ta.n X

Standx+k’

3tan~! 6x +k

tan'16x+k

[121/327
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62.

63.

64.

65.

66.

67.

(A) [5% é%] | ®
© o]

f:f’é tan0do =
T =

© 2 | D

jsini"*écoseggede: |

@ cre - @
-~ (C) c—cbéﬁ S -(D]

I( cos 6 coéecQB*CQSG cot? © }dé =
(A) log cosecé+'cotﬁ+k - (B)
(C) k+sin® | (D)

I(4cosx—551nxldx=

(A) kK +4sinx+5cosx BT
(C) k+4'sinx—5cl‘osx | . (D)
,J' 3cosxr—2$i.nxl dx =

2cos x+3s8inx |
(A) 2cosx+3sinx+k (B) -
(C) tan'l(Ssin%]-i‘k . (D)

~ iINT—A-QS /2501-5/10) |

[121/327 |

4 15
10 35

109
145

c+cosO

c+sind

cosecB cotB+ k

e+k

-k-4sinx—-5cosx

k-4sinx+5cosx

log | 2cosx+ 3sinx| +k

2tan%+k

‘Page 17 / 32




|

68.

69,

70.

71.

72.

3x? +
[= 2 dx =
X7 +2x
(A) sin™! (x3 +2x) .+_k
(C)  log|3x*+2|+k
I dx _
x +95
(A) tan 1 Xk
)
© Ltant Xk
B
! 3+x
B o
(C) 2log3

(A)

(C).

2
=

' 2log x

[121/327)

(B) tan”l(3x7+2)+k

D) log(x®+2x|+k

(B) - tan

.(D} ' Jg_tan'ljx—g,+k

® I
(13}--.31--.:)32

Wutﬁa»—mdy Qy =52 mmww%

‘The integrating factor of the differential equation —= t— = 5x%is

B) 2e
dy - 2y
dx
B 26+ '
D) %
B) 147

| -
(D) 2k -11i

3/250 1-(5;10;

Page 18 / 32



74.

75.

76.

(121/327 |

Vm/ 3 (B) - 6

€ 7 | . D S

G x¥2y;32+15=0 * W#ﬁ?ﬁ ailﬁql_rf%

@ 1,23 - B) 1,-2,3

© 1,2,-3 O} 1,2,15

Direction ratios of the normal to the plane x+2y — 3z+15=0 are

@ 1,23 | B 1,-2,3
© 12-3 D 1,215
x+1_ —2 -z 5
T @1 23 575 é:ﬁa»‘ I §
A 1,-2,5 _ B) 3,2,5
Cr 3,3,6 DO 1,35
) . . . x+1 y-? z-—.S'
The direction ratios of the straight line 5= 3 - &
a) 12,5 | B) 3,2,5
) 3,3,6 | D) 1,35
— x—100 _Y=99 _z-98 frofafigy ﬁl—TH
W 257 =153~ 103 Bl %':3? q
T € 2
- (A) (101, 102,103} (B) (98,99, 100)
(C) (100,99,98) . - (D) (99,100,101)

INT-A-23/2501/10] | Page 19 / 32




77,

78. .

[121/327]

‘ - traight line
Through which of the following points does the straig |

x—-100 _ y—99=_z_93

101~ 1027 ""103
(A) (101, 102, 103
(€) (100, 99, 98

pass ?

(B)

(D)

B Y -+ - = -
(10 i +j+_k}x'['—'4i+?j—11k}=

> > =g
A -181i +106 j+74K
(€}  181i +106 j+74k
d{.3 _
?:l—;c—( +ex)-

(A) éxg

) \_12']/ 33:2+ e*.

79.

80.

d (tanx+sin2x)=

&

(A) -sccx+2éﬁ1x COS x
| (C) sec? x+2 $in x cos x
£ (e)-

dx

&y 5%

(C 5e5%

(B)

- D)

(B)

(D)

(B)

(D)

- (B)

(D)

(98, 99, 100)

(99, 100, 101 )

o

. - ,__’
187 -106 j —T4 k

58.02 X +cos? b

sec? x—2sin x cos x -

10e5*

QSesx

81. dd x =8y ~-9z=12 % AN TH ool F1 Ttgwo &

(A)  x+8y+9z=12"
(C} 8x-y-9z=12

«(B)
(D)

- x-8y-9z-2023.
' -’f"gy-83=12

-[1'NT-A-23;2501-;.-,.«10.]'_ o
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Equation of a plane parallel to the plane x—-8y-9z=12is

(A) ¥+8y+9z=12 - By Qc—gy—gzzﬂdzs;

(C) 8x-y-9z=12 | (D) - x-9y-8z=12,
82. (3?—4?§F=

@ 1 B 25

@ 7 : | (D) 49

g3, W 37 -0 % feem 3 T wRw ¥

3-? 9_?.- o | i-97
i -9; : . " 31-9;
P L e
2 L7 - = '
( 3i-9; : {D"Si—gj . 8
490 V70

' . > o
The unit vector in the direction of vector 3 i—-9j is

3i-9J -9
1 — . [
© & . O T

(A) 22 - 23

©) 24 | D 25

INT-A-23/2501-(s/10) ~ Page 21/ 32




85.

86.

87.

[121/327)
T 3x+4y+5z=13 §RI x-31&7 W H1el T4 FHel: ¢

(A) % | B 1—;—
© & o 2

The in'tcrcept cut off on x-axis by the plane 3x+4y+52 =13 is

I
Q) lf | ,. D) %
e T ax+by+cz+d o %Hﬂmi‘@ _—1—%=§?{Fﬁ
(lA). a+’2b+3&=o (B -a+2b+3c=0
[cl-'_ .3a+b+2c;§ D F{ﬁrﬁaﬁéqﬁ

If the line X£._Y_Z ;
If the line SiT373
(A a+2b+3c=0 B -a+2b:3c~0

(C) 3a+b+2e=0 = (D) _ndneofthése

I I a9 ayx +by +¢;z + cﬁ.:{] agr ayx +b,y ;cgz+d2' =0 [WER

ot gt
y 4 b ¢ &, b '
@& %75, ", B i

i ok

(@ aay+hby+ec, =0 D) THY E3H)

J1INT-A-23/2501 ~(5/10)
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88.

89.

90.

91.

!

[121/327 ]

If two plancs a x +by +cz +d =0 and a,x + b,y +czz+d2 =0 are

1

mutually perpendicular then

b
(A) ﬂ;.—l.-_—i- (B) .Cil.+i+ .c_1=0
a, b2 c, a, _ b2 Cy
‘(-?Q)/ a,a, + b b, +¢;c, =0 (D)  none of these

- = -

- -
(11i =7 j—-k).(8i -j -5k})=

@ % - (B) - 100
© 400 o 88
PA)={7, P(BI=7, P(_AﬂB]={-'f=> P(A/B]=
(A) —g ® _g_

© 1 o %%li
bE)=2, PR3, PEURISE = PENF) =
& 7 @ 2

3

@ 37 '. - D7
uﬁaﬁwﬂhwﬁéﬁaaﬁﬁmaamnmJQG%ﬁquﬁ%

(A) 10 | ‘ : (B) 5

() 3 (D) 40
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93.

[121/327]

| If the direction ratios of two parallel lines are x, 5, 3 and 20, 10, 6
then the value of x is |

A 10 o B) 5
© 3 D 4
%Fﬂ 1€ _
ﬂﬁ:a’rwa?%@mﬁé;fﬁ A al,bl,cl T ay,by, 0 a,
@ b B b
© by D g

If the direction ratios of two parallel lines are a;,by,¢; and a5,b,¢

.then D%

: a2 - ,
@ B B by
© by D) ¢

'uﬁﬁwaﬁ%@aﬁ%ﬁmmzssaﬁnx%gﬁﬂ

-2x+ 3y = | |
(A) 20 N (B) -20
€ 30 D) -30

If the direction ratios of two mutually perpendicular lines are 2, 3, 5

and x, y, 4 then 2x+ 3y =

@ 20 . B -20

(cy 30 | (D)  -30
—

|13i-4j-5k|=

y/ 55 B) 12

© 2 - B
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95.

96.

97.

- 98,

99.

100.

-sin® ' -cos®

[2a-7 1]=[a b-1]= (a,b)=

A  (1,7)
€ (7,2)
1 1 5
4 9 17
5 10 22

(A) 264
€ o

(A} O

c -1

secB cosecH

(A]lO

@ -2
[£903-
w [37
o [3°¢
o o1

@ [6 -5]
© [1]

[121/327 ]

(2,7)

(B)
D) (2 3)
“(B) 1221 ~
D) 1
& v
(D) 12
® -1
(D) - sin2 6
2. 0]
B o 4
o [g9
B [-5 6]
1
(D) _[1 ]
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| m‘afSECTION-B |
g TR U3 / Short Answer Type Questlons
mmlﬁaowwwﬁva‘rm#wmm%mwm
5T & forg 2 9 Fraffea 1. ' | 15 x2 =30

+

Each

Question Nos, d to 30 are Short Answer Type Answer any 15 questions.
' 2=30

gquestion carries 2 marks. . 15 x

1. 9% y- x_x+1ﬁmﬁwﬁmmmwﬁ"gwwﬁiéiw
| x-FrvTie 2 ¥ e | 2

3
Find the slope of- the tangent fo the curve y=x" —x+1 at the pomt

whose x-coordmate is 2.

2. T RxR—;RWﬁﬁﬁ'q%mﬁWﬂTqﬁ%li

Prove that " ............ " R x R - R is not a commutative bma:fy
operation. _ : i | ,
3. - cosec”' 2% Y& HH IId H | | 2

Find the principal value of cosec™!2. . -

Find the acu.te angle between the lincs %:%:% and X.-Y_ z

5. Wﬁﬁﬁ4ﬁﬁﬁﬁ5ﬁﬁﬂ%%m§&i%ﬁsﬂ?ﬁﬁm6%ﬁﬁ%
17 49 PR ¥ e st vl i ey
ﬁmﬁaﬂﬁﬁﬁl 2-

A bag contains 4 red and 5 white balls and another bag conta.ms-

5 black and 6 green balls. A ball is taken oyt from each bag Find the
probab111ty that one ball is red and the other is black.

INT-A-23/ 2501-(s/10) | : : Page 26 / 32




E [121/327 ]

6. : "
5 Rt =1 Sorer star 31 i o ¥ e Y feRar w B 2
S coins are tossed. Find the probability of getting exactly 3 heads.
- 7. Fﬂ@ ﬁ 5D cosec lx ¢ sec™! x:%,| x|21. 2
Prove that cosec™lx +sec™! x=-;—, |x|21.
8. TNl x+2y+3z=6 A 3x-3y+z=1 % dre 1 HI0T T A 2

Find the angle between the planes x+2y+3z=6 and 3x-3y+z=1.

9. Va:é(4,-5,6}ﬁaﬂ?.{4?-4?+7¥}=-6ﬁ§3°rmﬁﬁl 2
Find the distance of the point ( 4, — 5, 6 ) from the plane .
- — - . : .
r.(4i-4j +7Tk)=-6.

. —» - - - -, = -3 - - = .
‘)g./ﬂﬁta=2£+j+3ka'€lTb=3i45j-2ka’r|axb|'amarh 2

- - = - - - - - -
fa=2i +j+3k and_b=3:"+5;—-2k.thg:nfind|axb|.

| -» - —> -3 = -
1. ﬂﬁ'gs'??—llj—lﬁk, b=8;’+3j_5}¢~ae:n

.4

' - - - L
g=—4?—3?+5k at|2a -—3b+4c|3=ﬂﬁa—ﬁl . 9
- —> - - — - - N N

277 11]-16K, Bb=81+3)-5k and c=-4i-3/45k

5
_3b+4c|.’
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12. Feg=ife [o%]w f(xj=sinx™ FRa@ s &1 2
- Prove that the function f(x)=sinx is continuously increasing
in (0, I )
_ 2
- 13. ET'TEFE x—-=——y 2x%y. . ' : 2
_ dx :

Solve - x 3Y 2

Solve :x—=—-y=2 .

o - dx y x Y

14, TR x+y=xy® A L wma Ht o | 2

If x+-y=xy3_then find %%

\m/ﬁ‘oﬁ dy 2y _ 1 | - | 2
R dx X x2 . _ .

.dy 2y _ 1
Solvc.dx+x— >

, 1 2 4 - . o .
16,/ GRUUFR [1°3 6 ol OF 3 L | 23
1 a9 - S

Find thc value of the determnant

\/?ﬂi’A ?%%]B'[—i ]FﬁAﬁﬂﬁaﬁﬂﬁ:WB’rl g
2 3 % 2 -1 .

| 01 2 1 —2 e S
If A={1 2 3|,B=|-1 then ﬂnd AB 1prSS1ble B
2 3 4 2 —1 o

)
NI
OO\H

_—

}/mﬁ% I+2J +3k- —?;7+8k 3R —41 +4_;+6k T
ﬁ'ﬂﬁéﬁﬁ'—f?ﬁé%l e,
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e e S S
Prove that { +2j +3k, -{ - +8k and -4 +4 ] +6k are

vertices of an equilateral triangle.

19. =g yzcos{tan,/x-l-l}.?ﬁ j—i 1 H | 2
If y=cos(_tan1}x+1} then find —fil—i
/\/ﬁaﬁ f | | 2
| x{1+log x)? | :
Solve : I
x[l+10gex]
. 2L kr dx . . 2

Intcgrate I et kdx dx
yps .

/ Ism xcosmxdxﬂﬂﬂﬁ'ﬂﬁl o 2
Find the value of jsm x.cos'? xdx.
-1

Fmd the value of I Jz—_ix dx.
X3 -

ST IM——— S - 2
tan8+cot® .

. n/2
_ i cot®
Find the value of I tan®+coto
, ' 0
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25. A y=(sinx)O%* A % T L

If y=(sinx)*" then find %
j?/ R x= a(l-cos0), y=a(0+sind) i %— T H
. dy .
If x=a(l-cos0), y=a(0+sin0) then find I
27. HAUYl x+2y<16 .
x20, y20 _
% 3T Z=3x+7y BT AHTH A FieT AL | . 2
Maximize Z=3x+7y |
subject to the constraints x+2y< 16
x20, y20.
28. AT HX Isin4x.c_053xdx. ' | - . 2
Integrate : Isin4x.cos'3xdx.
40 o e | - S
29, [T WA | A o 2
: . o
[ntégrate 13 "4cos0
cosecx _ : \
SQ' Icosec:g+cotxdx e F _ L

3

COSCC X
X
cosecx+cotx

Integrate : I

—
——
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et Ivdiw W / Long Answer Type Questions

mﬁwuﬁasaﬁﬁﬁqm%lﬁﬁﬁﬁﬂ?4uﬁ%mé|m

a*i?Qsﬁmﬁufﬁa%l - 4x5=20
Question Nos. 31 to 38 are Long Answer Type questions. Answer any
- 4 questions. Each question carries 5 marks. -  4x5=20
31. _ T B (x?+y2]% =2xy. S
Solve : (x? +Iy2')%- =2xy.
32. fog + & tan! 1 - + tan™! —2—'2—-—=c0tTl X g 5
. Xty X+ xy+1 - -
Prove that tan™ 1 + té.n'l 5 L =-c-::rt"]‘ X. l-
; ' t+y x°+xy+1
| ‘ . |la=b-¢c 2a ' 2a
33, GRfoTs FEEEE e | 26 b-c-a 2D 5
_ , 2¢. 2 .c-a-bj
, a-b-c 2a 2a e
Factorize the determinant : 2b b-c-a 2b -
: 2c 2c c-a-b|.
: _ . dy .
H COS X SN x =4
34, I[fa‘ y:{smx] +(cosx )™ ﬁ:’f e ﬁmﬁl 5
, . g X 'sinx. dy
If y= (sinx)°°" +(cos x) then find I
35. @mﬁﬁﬁwﬁﬁaﬁﬁﬁﬁwwmmaﬁl | 5

the mean of the number ¢f heads in two tosses of a coin.

_ ]INT—A‘-23/2501—¢5J10) | | Page 31 / 32

Find




36.

37.

38.

[ 121/327 ]
Z =5x+7y T SATIHTHHIT H{ €6
x+y< 4
3x+8y < 24
10x+7y < 35
x)y :3-0 o 1 ) v - 5
Maximize = Z=5x+7y | |
subject to xX+y< 4
3x+8y <24
- 10x+7y < 35
x,y=20 3
2 . _ '
_[( ] 2X 4y 1 WA A B 5
AN 2x°? ' .
Fmd the value of I[-———-l—)eQx dx.
2x°
- > - - - . .
{{1-2_;+3k]x(2:+_; k) |.(j+k) A S E 5

i —)I - — - — ,-
_Fmdthevalueof[( 1—2;+3k]><(21 +_; - k) (J?/
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